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Mandatory or Optional : Mandatory
Number of Questions : 52

Number of Questions to be attempted : 52

Section Marks : 52

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896872
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2549896663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & B 1 Red TitedeR & YR & eifid 82
Options :

. % g8 YRR St dR

% DBMS

# SfTORfET Rieew

% Yeiie Yo

Bowo

Question Number : 1 Question Id : 2549896663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following belongs to a type of system software?
Options :

1. ®= Word processing software

2. % DBMS

3. % Operating system

4. % Spreadsheet software

Question Number : 2 Question Id : 2549897050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T fafRry v R foreht fasiv g7ge a1 3rseye feary & 1w 3 a1at $ex Red § srgfAde & & forg fewe= forar man
B, U R FH5d 82

Options :

1. & SISy

2. % UM gy

3. ® gy

4. TEarsy greay

Question Number : 2 Question Id : 2549897050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Specialised programs designed to allow particular input or output devices to communicate with the rest of the computer system are called:
Options :

1. ®= compilers

2. & action drivers

3. ® interpreters

4. % device drivers

Question Number : 3 Question Id : 2549897125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

The ‘AltGr’ is a(n) key found on many computer keyboards (rather than a second Alt key found on US keyboards).
Options :

1. % magnifier

2. % access specifier

3. & break

4. % modifier

Question Number : 3 Question Id : 2549897125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AGrTH ol § Ol B8 R Plals (JUYT Plals IR UTS ST dTalt ot Alt Hoil & ST TR UTS St g |
Options :

1. % AYHRR

2. ¥ TR WRBRR

3. % 8%

4.+ AISHRR

Question Number : 4 Question Id : 2549897650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AR O, TP ThIgpd URYY F HiaR T giforex 3R T GuiRA s 8Id 5 |
Options :
1. ¥ DRAM
2. ® NVRAM
3. ® SRAM
4. = PSRAM

Question Number : 4 Question Id : 2549897650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
memory cells are made up of a transistor and a capacitor within an integrated circuit
Options :
1. ¥ DRAM
2. % NVRAM
3. % SRAM
4. & PSRAM

Question Number : 5 Question Id : 2549897764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CRT fE¥ &1 B 1A TR b fexm & Hram o1 82
Options :

1. ® qead

2. % g

3.+ fRe

4, % W9 SR &fas U ¥

Question Number : 5 Question Id : 2549897764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The screen size of a CRT display is measured:
Options :
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1. % vertically
2. % horizontally
3. % diagonally

4. % vertically and horizontally

Question Number : 6 Question Id : 25498911533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e TR SIR cren AR &1 geed fH # 3 fa il & el S 31 192
Options :

1. & Jyy

2. B QIRY

3. AR

4. % greft

Question Number : 6 Question Id : 25498911533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Remote processing and time sharing was introduced in the generation of computers.
Options :

1. % first

2. % second

3. % third

4. = fourth

Question Number : 7 Question Id : 25498912984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 8 AUeid # faSTe HIfaferdt Tex Wiem & fort ford is &1 SUanT fasa ST 82
Options :

1. % msra

2. % msra.cpl

3. & winmblctr.exe

4. % mblctr

Question Number : 7 Question Id : 25498912984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to open the Windows Mobility Center in Windows 8§ laptop?
Options :

1. ®= msra

2. % msra.cpl

3. % winmblctr.exe

4. % mblctr

Question Number : 8 Question Id : 25498923845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frofaRea SRme e & O S we fa § S sifaed WRear &t IHded WReT 87

BHg=C_7_o
Options :
1. % 42
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2. % 43
3.% 28
4. %8

Question Number : 8 Question Id : 25498923845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is Decimal equivalent of given Octal number?

(B4g=(C_7_ o
Options :

1. % 42

2. % 43

3. %28

4. % 8§

Question Number : 9 Question Id : 25498924735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hedl-eTehT & fore Faferfed & 3 o ged oifies Heayqul 82

Options :

1.+ TISH R

2. % gAUS

3. % OrgaRd

4. % MU

Question Number : 9 Question Id : 25498924735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most important for multi-tasking?
Options :

1. % Timesharing

2. % Integrity

3. & Modularity

4. % Confidentiality

Question Number : 10 Question Id : 25498929969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SRR Wt e v R &
Options :

1. % SISl R

2. % Fiopd B

3. % [AfSpg A

4. % ey B

Question Number : 10 Question Id : 25498929969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Biometric spoofing is a method of
Options :

1. % faking

2. ® activating
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3. & deactivating
4. = filtering

Question Number : 11 Question Id : 25498930722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG, BICHIT 3R 3 HifsaT ford Siare J1ead! IR Wa: §1 USpTIRId fba o Favdl &, 1 5 & 9 7 YafHa axar o2
Options :

1. % U8R

2. % gfRf

3. SAHT

4. % USRI

Question Number : 11 Question Id : 25498930722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to writing, photography, and other media that is self-published online?
Options :

1. ® Podcasting

2. % Searching

3. % Blogging

4. = Exploring

Question Number : 12 Question Id : 25498930966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
-difsT Farafi & e & Mps &1 quiET F1 82
Options :

1. % gHifeue Utic HTFQ}?F{ (Immediate Payment Solution)
2, - 5@2’ O7c Tfdg (Instant Payment Service)

3% sfﬁ%Q‘c’ e gfdy (Immediate Payment Service)

4, & Eﬁ%@ Us gfag (Immediate Paid Service)

Question Number : 12 Question Id : 25498930966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of IMPS with reference to e-banking services?
Options :

1. * Immediate Payment Solution

2. & Instant Payment Service

3. %" Immediate Payment Service

4. % Immediate Paid Service

Question Number : 13 Question Id : 25498933236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I IS I IRt 20-f9e TSH HIS &1 YN FHra 7, af JTU et AR U39 o Ghal 82
Options :

1. 10 MB

2. % 1 MB

3. 20 MB

4. % 580 MB

6/38



11/11/2022, 10:00

Question Number : 13 Question Id : 25498933236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a typical PC uses a 20-bit address code, how much memory can the CPU address?
Options :

1. # 10 MB

2. % 1 MB

3. 20 MB

4. % 580 MB

Question Number : 14 Question Id : 25498933733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R, Sarl, HETaTS} R gl 1 fie 5 31k S FRreet Rl & uRafiia 53 & Rig 92 v TR &0 & @ 53 areh
FYR Ay M H I HH A g2

Options :

1. = CD-ROM

2. % U9 154

3. TR

4. % iR

Question Number : 14 Question Id : 25498933733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a computer device that optically scans images, printed text, handwriting, or an object, and converts it to a digital
image?

Options :

1. %= CD-ROM

2. % Pen drive

3. % Scanner

4. % Printer

Question Number : 15 Question Id : 25498933829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fATfefRad MS-Excel T3 &1 313TYE T 82

=SUMPRODUCT({1,2,3,4},{5,6,7,8})
Options :

1. % 36

2. % 1704

3. % 12345678

4. %70

Question Number : 15 Question Id : 25498933829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel formula?

=SUMPRODUCT ({1,2,3,4}, {5,6,7,8})
Options :

1. % 36

2. & 1704

3. ® 12345678
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4. %70

Question Number : 16 Question Id : 2549897352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which file format is used to save created by Windows backup utility?
Options :

1. = bkf

2. % Dbkp

3. & Dbkfp

4. % Dbkpf

Question Number : 16 Question Id : 2549897352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Window (fFSIT) S0 et GRT §TE 718 T3oi & o fob T @ Wite 1 IUaRT faham wirr 82
Options :

1. % bkf

2. % Dbkp

3. & bkfp

4. % Dbkpf

Question Number : 17 Question Id : 2549897927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is trap door with respect to Information Security?
Options :

1. * It is a trap door in WarGames.

2. % It is a kind of secret entry point that allows anyone gain access to any system without going through the usual security access
procedures.

3. & Ttis a Trojan horse.

4. ® Tt is a virus which traps and locks user terminal.

Question Number : 17 Question Id : 2549897927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT GRET %Wﬂﬁa’q@?(trap door)aZIT%?

Options :

1. % g & WAl (@R T) ¥ I8 T IR Ao |

2. I8 TP UDHR H1 [ Y Uise g Sl fonddT ol o} AT R TR vfshanstt & o fom faseft +ft e ao vet urd oA
B AR AT R

3. % gg gl g o

4. % Ug U dORY ¢ O STTITehd! efHiel TR °Id &7l & 3R I § R SaT 2|

Question Number : 18 Question Id : 2549898372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following device provides the appropriate voltage level to the motherboard?
Options :

1. % CMOS

2. % SMPS

3. & Registers

4. & UPS

8/38



11/11/2022, 10:00

Question Number : 18 Question Id : 2549898372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FAfREd § & SH-91 SUSIV HeRale o1 Y dlecs Wk UaM HRdl 52
Options :

1. % CMOS

2. % SMPS

3. % Registers

4. & UPS

Question Number : 19 Question Id : 2549899497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to change the text color in an MS Word document?
Options :

1. % Font color

2. % Word Art

3. ® Text Effects and Typography

4. % Watermark

Question Number : 19 Question Id : 2549899497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFofRad & 9 f5aeT ST MS Word STagHe H CRE &1 1T 9&a & ford fobdn ST g2
Options :

1. ¥ TI< HeR

2. % T3 3¢

3. % RC THhaCH R TRUITH!

4. % QeHD

Question Number : 20 Question Id : 2549899569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which printer sprays streams of quick drying ink for printing?
Options :

1. % Laser

2. % Inkjet

3. %3D

4. %= LED

Question Number : 20 Question Id : 2549899569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
oI 1 fife fUife 3 for afta Tem arelt el &) YR W T g2

Options :

1. % AR
2. % SHolc

3. %3D

4, 5 TAS S

Question Number : 21 Question Id : 25498910753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
printer makes use of pins to produce characters.
Options :
1. * Inkjet
2. % Dot Matrix
3. & Laser

4. % Multifunction

Question Number : 21 Question Id : 25498910753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ fiex, guf s & forw U9 o1 SUAT eRar B
Options :

1. % PHoic

2.+ Sle g

3. % TOR

4. % AfcThaH

Question Number : 22 Question Id : 25498911189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcut key shows the properties of a file?
Options :

1. %= Cul+1

2. % Alt+ ENTER

3. % Alt+2

4. % Tab + ENTER

Question Number : 22 Question Id : 25498911189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafRead & 9 o @ 2icHe Hofl frht ®BTed & UrIdS &1 g=id! 87
Options :

1. %= Cul+1

2. % Alt+ ENTER

3. % Alt+2

4. % Tab + ENTER

Question Number : 23 Question Id : 25498913381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid category of image file?
Options :

1. % TIFF

2. % JPEG

3. % PGN

4. % PNG

Question Number : 23 Question Id : 25498913381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafed 7 3 o O S @0) Bied Bt T A Joft T8 82

Options :
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1. & TIFF
2. % JPEG
3. % PGN
4. = PNG

Question Number : 24 Question Id : 25498918453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the feature of printer that determines the quality of printing?
Options :

1. % Size

2. % Brand (model)

3. ® Price

4. % Resolution

Question Number : 24 Question Id : 25498918453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fifex o1 B 1 g (WieR) geor quras Rufd #arg?
Options :

1. % 3[hR

2. ¥ §US (HISq)

3. %7

4. v Refleger

Question Number : 25 Question Id : 25498918523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many bytes does 6 kilobytes represent?
Options :

1. % 6144

2. % 6048

3. % 6000

4. ® 4096

Question Number : 25 Question Id : 25498918523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
¢ fpeiaTge foran aTgey guid &2
Options :

1. % 6144

2. %6048

3. % 6000

4. % 4096

Question Number : 26 Question Id : 25498920770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a UNIX command which allows an authorized user to log in to other UNIX machines (hosts) on a network and to interact as if
the user were physically at the host computer.

Options :
1. % rlogin
2. % plogin
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3. % nlogin

4. % rlog

Question Number : 26 Question Id : 25498920770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T AR (UNIX) HHS § S [t 3ifigd STl &l farddl Hedd & 3 gHad (UNIX) TRiF! (@ReH) IR a1 39 &=
1 ST Gt & oI BT ITIRTHAT Be PR IR TgIad w0 J HING 51|
Options :
1. % rlogin
2. % plogin
3. % nlogin

4. % rlog

Question Number : 27 Question Id : 25498922017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In DES, which properties makes cipher very strong?
Options :

1. % Avalanche effect, completeness

2. % Avalanche effect, incompleteness

3. & Newton effect, completeness

4. % Newton effect, incompleteness

Question Number : 27 Question Id : 25498922017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

€309, (DES) H & 1 70 R &1 9gd HoTgd S 82
Options :

1.« feURIT YT (3faTelie gihac), guid

2. # fRURITH UG (3faTelie §ihac), Squtar

3. & e gYTE, goid

4. % e YYTG, 3qutar

Question Number : 28 Question Id : 25498922633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, a character that is raised and is smaller above the baseline is known as:
Options :

1. % Superscript

2. & Typescript

3. #% Subscript

4. % Strikeout

Question Number : 28 Question Id : 25498922633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Word H, Teh 901 fordl SMTYR 3@ J HWR B 3R ISTT 91T § 3R S BleT 8T 8, 39 CREIGI]
Options :
.« GRIEHY
2. % TIEURERY
3. % YI&pY
4, & LD 3AT3C
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Question Number : 29 Question Id : 25498924169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(A/An) is an interface between a computer user and computer hardware.
Options :

1. % Operating System

2. ® Motherboard

3. & File Management

4. % Hard Disk

Question Number : 29 Question Id : 25498924169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HYR ST R PR GIEIR F AT TH by g
Options :

1. SR ey (Operating System)

2. % Ha§ls (Motherboard)

3. = qﬂéﬁﬁﬁ\_ﬂﬁf (File Management)

4. % gTS f$%F (Hard Disk)

Question Number : 30 Question Id : 25498925157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Decreasing storage prices have only increased interest in data compression, since:
Options :

1. % there is now more data to compress than ever before.

2. % market prices have dropped.

3. % market prices have started rising.

4. ® passionate people are working in the area of data compression.

Question Number : 30 Question Id : 25498925157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

R B HHA A FH A ST ARSI A IR TR g Hfd |
Options :

1.« TUIfSd B3 & o 319 uga @ gl 3ifdiss ST gl

2. % §INIR &1 HiHdl | R1EE oS 51

3. % SOR &1 DIAd ggq il B

4. % ST YRS & &F B T AT T FR IR ] |

Question Number : 31 Question Id : 2549896620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JTUST R AT URNBTA R Fhde & fafor & forg ues 7 e iee Ted $exthd (CGI) &7 IuaT fohar S g |
Options :

1. % RR

2. & 3EY

3. TiRite

4. % Ryl

Question Number : 31 Question Id : 2549896620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Common Gateway Interface (CGI) is a standard method used to generate content on web pages and web applications.
Options :

1. * static

2. &% invisible

3. %" dynamic

4. % jmmobile

Question Number : 32 Question Id : 2549896697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$Twmmﬁmm$mummmm%|m & SUINT Y 37 TERI 1 I PR
I

Options :

(e | (Quick Heal)

2. % AHUBT (McAfee)

3. & BRRT (Coursera)

4. % qu’ﬁ—cpl\—ﬂ (Google Photos)

Question Number : 32 Question Id : 2549896697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

You want to share your picnic photographs online with your friends. The best way to share these photographs is by using
Options :

1. % Quick Heal

2. % McAfee

3. & Coursera

4. % Google Photos

Question Number : 33 Question Id : 2549896991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
& SR TfTHIT Ueh-goR 1 & 3R G b & |
Options :
1. % eI Hd ReH
2. % OO Ren
3.« ST BT
4. % 3{AAR BRA

Question Number : 33 Question Id : 2549896991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Participants can see and hear each other in a/an
Options :

1. & electronic mail system

2. ® message system

3. % video conference

4. % online Forum

Question Number : 34 Question Id : 2549897184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A gR1 fasRyd e o9 &1 T Jfaun gl
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Options :
1. & T A9
2. # A ER
3. % T AT
4. A B

Question Number : 34 Question Id : 2549897184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a note-taking service developed by Google.
Options :
1. * Google web
2. & Google store
3. & Google line
4. % Google keep

Question Number : 35 Question Id : 2549897422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 3 58 &6 § SIHR (Compare) fdsed Hive gidT 82
Options :

1. % Ufee

2. % Bl

3.9 Ry

4. % U T-313¢

Question Number : 35 Question Id : 2549897422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Compare option is available in which tab of MS-Word 2019?
Options :

1. % Edit

2. % Format

3. % Review

4. % Page Layout

Question Number : 36 Question Id : 2549897882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PowerPoint 2007 & g T3 WIaR & gRT fhHl sifsciae ! freit Ul U= THHe fasam o Tavdl 52
Options :

1. & TREUIY

2. % RIFE

3. % HEHWES W

4. % Cioil=ME

=

Question Number : 36 Question Id : 2549897882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which new feature in PowerPoint 2007 has the ability to animate an object to move along a path?
Options :

1. % Motion paths

2. ® Narration
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3. & Customs slide shows

4. % Transition

Question Number : 37 Question Id : 2549898111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 H &I gRad=ite ==Y & A9 & forg RSP (SUIIhea) d1e BT IUANT fhaT SIrar 7 |
Options :

1.« Iy

2. % B

3. % U

4. % WiH

Question Number : 37 Question Id : 2549898111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
chart measures two changing variables in the form of a topographical map in MS-Excel 2019.
Options :
1. % Surface
2. % Doughnut
3. ® Pie
4. ® Stock

Question Number : 38 Question Id : 2549898129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel & WheR A1¢ & Aot S I HUF Tal 82

Options :

1. SUH A BT QT &R Bicl &, AT (x- 318, 9T (y- &) |

2. % gg gt ol & A &) ga FRaT g

3. % WP P AF P IAR-TGTE Bl S P oY 3BT ITANT fbar Sa1 81
4. % g g fig I Yefdd geui § uRad= ueRfd sar g

Question Number : 38 Question Id : 2549898129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which statement is true in case of Scatter chart in MS-Excel?

Options :

1. % It has two value axes, that is, the horizontal axis (x-axis) and vertical axis (y-axis).
2. & Tt compares values across categories.

3. & Tt is used to illustrate the fluctuation of stock prices.

4. % Tt displays changes in values relative to a centre point.

Question Number : 39 Question Id : 25498910615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

$-difehT Tarsit & we! # NEFT &1 QURET R B2

Options :

1. % Hf¢q SAacIMd Bs TR (Native Electronic Fund Transfer)

2. % AYEA Q?ﬁ'ﬁ—a TS TIRIMR (National Elementary Fund Transfer)

3. %" A 3AaCHPb e TR (National Electronic Funds Transfer)

4, ® 93FA ﬁm e gm'qﬂ—\llﬁgﬂ (National Electronic Fund Transformation)
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Question Number : 39 Question Id : 25498910615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the full form of NEFT with reference to e-banking services?
Options :

1. ® Native Electronic Fund Transfer

2. % National Elementary Fund Transfer

3. % National Electronic Funds Transfer

4. % National Electronic Fund Transformation

Question Number : 40 Question Id : 25498910689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS TR UGl b ¢a # USiHRM delel & Sfavid Fafafad § 3 ®H 91 fased Hivg gidl 82
Options :

1. fagl/3iith dera

2. ¥ U s QT

3. ¥ I fdg aRe

4. % U9 P 3THR

Question Number : 40 Question Id : 25498910689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is under pagination control in Line and Page Breaks tab?
Options :

1. % Widow/Orphan control

2. ® Page break setting

3. % Keep with last

4. % Page break after

Question Number : 41 Question Id : 25498911086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 % URFITH Tg & sTex 3R AT S/aaiT steq # Fg & ¥ & 91 fahed Aicg T8l gt 82
Options :

1. % XIgd

2. ¥ g5

3. KPR

4, % fagy

Question Number : 41 Question Id : 25498911086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an option available in borders and shading dialog box in paragraph group in MS-Word 2016?
Options :

1. ® Style

2. % Height

3. & Colour

4. % Width

Question Number : 42 Question Id : 25498911453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
gftbmed st faded MS-Word 2019 STeRgfc § quif &t Team A 1 fadhed UeH e g
Options :
1. % HIC HaCH
2. ¥ T8 BT
3. % FeR I Pyacd
4. ® HI3C APy

Question Number : 42 Question Id : 25498911453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The option in the Proofing tab provides the option to count the number of characters in an MS-Word 2019 document.
Options :

1. % Count Characters

2. % Word Count

3. & Number of Characters

4. % Count Alphabets

Question Number : 43 Question Id : 25498911473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the Automatically Add Words to list check box is selected, the unwanted corrections that you undo are added to the list of under
Autocorrect tab in MS-Word 2010.

Options :

1. % exceptions
2. % words

3. & phrases

4. = templates

Question Number : 43 Question Id : 25498911473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

afg Automatically Add Words to list I Sia Bl Ig- a1 Sirdr %, GIRICIET JUrR forg 8y Ujaﬁ (undo) A %, MS-Word 2010 H
Autocorrect%ﬂ%x’riﬂﬁﬁ ﬁﬁ?ﬂﬁ@%ﬂﬁ%l

Options :
1.« TRIRH
2. % 38
3. % Thol
4. % TWQICY

Question Number : 44 Question Id : 25498911816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

While applving Paragraph Spacing of the whols docwmunent m bS5 Word 2019, the inage of
Paragraph Spacing option of Design Tab describes:

&

Options :

1. % Compact Spacing
2. % Double Spacing
3. ® Relaxed Spacing
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4. % QOpen Spacing

Question Number : 44 Question Id : 25498911816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & ¥ Sieraite #1 $Tmme wafeer o] w0 WA, A & 9 g8 wte e
ZafrEr 27

d

Options :

1. % Hige WRAT
2. v Sad TR
3. & Raae Wi
4. % 3O WRAT

Question Number : 45 Question Id : 25498911912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 ¥, Rgfd 87 & 2fitf iR fRyq a0} Yoem, STgicq AAWE MW 3 ucis we UelRid srar gl
Options :

1. % ¢ Il 3R HHC

2. % SN B

3. % IRT%

4. % gl

Question Number : 45 Question Id : 25498911912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, the summary section at the top of the Reviewing Pane displays the exact number of that remain in the
document.

Options :

1. % tracked changes and comments
2. * headers and footers

3. & paragraphs

4. % gentences

Question Number : 46 Question Id : 25498911930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g MS Word 2007 H fodft STargiie # uRUR® Hiad a1 & =R0T iU 7 § 1 3T 7Y faswedl § & 3% el 3hH &1 999 B |

a) 30 HITH & AT BT TTT B3 | 39 TH, &, A, 31YdT IR R fFaed Hdb T Wi, JHH WY ard Hiad &I 3T 3179 HBIHe
B dTell T bl Yoide bR Fehdl B | 31T AR i W fokies b blerd i T, fargy iR TR b1 Ag3ret w0 A 4t g b

gl

gﬂm%%mﬁﬁﬁ’c’wwqlsd%Gﬁslémlscﬁ;ﬁmﬁéﬁ%m%@mﬁﬁ,ﬁmm@@ﬁ@?ﬁﬁ%m
|

¢) UST 13T 29 R fFes B, 3MR fhR PHicrH BT gg B |

d) 3t IR fFae B

Options :

1.%b,c,a,d

2. % b,c,d,a

3. % b,a,c,d
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4. % b, d,a,c

Question Number : 46 Question Id : 25498911930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Here are the steps to create traditional columns in a document in MS-Word 2007. Select their correct sequence from the given options.

a) Choose the format of your columns. You can select a preset, automatically formatted number of columns with equal spacing by clicking
One, Two, Three, or Four. You can also manually select the number, width, and spacing of the columns by clicking More columns.

b) Highlight the text you want to format; if you do NOT highlight any text, Word will format the entire document.

¢) Click the Page Layout tab, and then select Columns.

d) Click OK.

Options :

1. ¥ b,c,a,d
2. % b,c,d,a
3. % bya,c,d
4. % b,d,a,c

Question Number : 47 Question Id : 25498911938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 SIFTHE & GTY HictH & WHe H, Ugel PlaH g8 Hiad BT gl
Options :

1. w* dgl

2. % @Il

3. & N

4. % JgJ 3Ydl IRTaR

Question Number : 47 Question Id : 25498911938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the right column preset of an MS-Word 2019 document, the first columnis  the second column.

Options :

1. % greater than

2. * smaller than

3. & equal to

4. = greater than or equal to

Question Number : 48 Question Id : 25498913326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B3 -0 Y= Nold Trg g & § S 1 g 3T Ued Wide J Jaifdd g gar g2
Options :

1. % From

2. %= To

3. % CC

4. % OCC

Question Number : 48 Question Id : 25498913326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following generally does NOT belong to the address field, while composing an email message?
Options :

1. = From

2. % To
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3. % CC
4. % OCC

Question Number : 49 Question Id : 25498919157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & BT <8 & Sfaiid HIv[g gl U B! Ugd He |
Options :

1. # fobue

2. % 29d

3. % 33N

4. % fdst

Question Number : 49 Question Id : 25498919157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct group under the Mailings tab in MS-Word 2019?
Options :

1. % Create

2. % Tables

3. % Index

4. = Window

Question Number : 50 Question Id : 25498919232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 T T TSI (merge) fITTE &1 I X acdM SIFgHC U Y& B 3R U dl STHBRI Sl gq e Siagie
T & fITd f S Fe DI SHad fohaT ST A1fge?

Options :

1.+ G SIFGHE BT AT B

2. # et THICIE 9 E

3. % HIoeT SragHe I = B

4. % GAAM SIGTHS BT IUANT HID L& HY

Question Number : 50 Question Id : 25498919232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word 2019, to start working from the present document and use the mail merge wizard to add recipient information, radio
button has to be enabled under the Select starting document for mail merging the letters.

Options :

1. % Use the current document

2. % Start from a template

3. ® Start from existing document

4. % Start using current document

Question Number : 51 Question Id : 25498920661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fFafoRed & 9 7 3-89 &1 U& 9 181 o7
Options :

1. % goR Toic

2.+ d9 STIWR

3. % OIS TR Toie
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4, % AA 9199

Question Number : 51 Question Id : 25498920661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a component of E-mail?
Options :

1. % User agent

2. % Web browser

3. % Message transfer agent

4. & Mail box

Question Number : 52 Question Id : 25498925516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG IR TR ITIRTHATSH Bl Sexc TRY A9 H Y S UGH B 52
Options :

1. % A< YT Uard

% 9cS d15S a9

% SIA A9 Red

® 3I[EY

Eal

Question Number : 52 Question Id : 25498925516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following provides internet access to organisations and home users?
Options :

1. % Internet Service Provider

2. % World Wide Web

3. % Domain Name System

4. % e-Governance

READING COMPREHENSION

Section Id : 2549896832
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896873
Question Shuffling Allowed : Yes

Question Id : 25498920947 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions.
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The Godavari

Most of the rivers of the south flow from west to east. They are born in the ranges of the Western Ghats and flow towards the Bay of
Bengal. The Godavari, the longest of the east-flowing rivers of the south, has its source spring further north in the Ghats. Like the Kaveri,
the Godavari, which is almost twice its length, is born within sight of the Arabian Sea and flows east into the Bay of Bengal.

The Godavari is popularly referred to as Dakshina Ganga or the Southern Ganges and is considered one of the sacred rivers of India
because it is associated with the story of the Ramayana. Every bend in the river has its tale to tell. In the great story of King Rama, towns,
woods and villages on its banks claim that Rama, his brother Lakshmana, and his wife Sita either passed through or lived here for a time.

Take Panchavati for example. It is a place near Nasik which is on the banks of the river Godavari. People believe that this is the same
Panchavati mentioned in Valmiki’s Ramayana where Rama stayed with Lakshmana and Sita for a while after leaving Ayodhya. It was at
this place, they believe, that Lakshmana cut off the nose of Surpanakha, the sister of King Ravana of Lanka. She had come to have a
glimpse of Rama and had fallen in love with him. The story goes that she was so bold in her advances that Lakshmana, angered beyond
control, cut off her nose as punishment.

The Godavari is joined by many tributaries as it flows along. The first to join it is the Pranahita. Later, the Indravati and the Sabari join the
Godavari. With so many rivers, large and small, joining it, the Godavari becomes full and it becomes kilometre wide. The river does not,
however maintain this width throughout its course. As it flows to the Eastern Ghats, in some places it is thin and narrow. Then, as the
Godavari reaches Rajahmundry, it becomes a broad and mighty river. The railway bridge across the Godavari at Rajahmundry gives an
indication of the tremendous size of the river here. This bridge, said to be the second largest in the whole of India, is made up of 56 spans.

Sub questions

Question Number : 53 Question Id : 25498920948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the most important feature of the rivers of South India?

Options :

1. ® Most of the rivers rise in the Eastern Ghats and flow into the Arabian Sea.
2. % The rivers of the south flow from west to east.

3. & Floods, as a result of heavy rains twice a year, causes great damage.

4. % Many tributaries join the bigger rivers at different places.

Question Number : 54 Question Id : 25498920949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why is the Godavari considered one of the sacred rivers of India?

Options :

1. % It flows east into the Bay of Bengal and is the longest river of the South.

2. % Many happenings mentioned in Ramayana are believed to have happened on the banks of the Godavari.
3. & Tt is joined by many tributaries as it flows along.

4. ® Like the Kaveri, it is born within sight of the Arabian Sea.

Question Number : 55 Question Id : 25498920950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which river is NOT a tributary of the Godavari?
Options :

1. * Indravati

2. % Sarayu

3. ® Pranahita

4. % Sabari

Question Number : 56 Question Id : 25498920951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which important incident of the Ramayana is said to have taken place at Panchavati, near Nasik?
Options :

1. % Rama, safeguarded the site of the Yagna along with his brother Lakshmana, on sage Viswamitra's request.
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2. ® Rama appreciated the service and devotion of Guha, the boatman in crossing the river, Sarayu.
3. % Rama relieved Devi Ahalya of Sage Gautama, her husband's curse to become a stone.

4. % Lakshmana the younger brother of Rama, cut off Surpanakhha's nose for seeking to marry Rama.

Question Number : 57 Question Id : 25498920952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Godavari is widest at Rajahmundry. Which of the following options support the idea?

Options :

1. % With so many rivers, large and small , joining it the Godavari becomes full four kilometers wide.

2. % The railway bridge at Rajahmundry, across river Godavari, is the second largest in whole of India and is made of 56 spans.
3. & In some places the river is thin and narrow.

4. % The Godavari is joined by many tributaries as it flows along.

Question Id : 25498920947 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498920948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o1 YRA B! AT & Ja Haqu! fARIvar @ 82

Options :

1. % 3ffeepier et gdf urel | el § 3R 3Re IR & fiRdl €1

2.+ ST YRA Pt AT o7 UaTe ufym I yd &t 3R g

3. % 91 § & IR YR IR & uRUMRGET 31 aTell 91¢ St &fd &1 BRI a1 ]
4. % B3 qga® A, 78t A H faft= i o et oreht §

Question Number : 54 Question Id : 25498920949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TeTast, HRd o1 Teb ufasl =Te} ot A it 82
Options :
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1. % U8 qd ) 3R UaTed B1d §U STl ) @ret §f R § 3R 3féror YR ot ged il 7l B
2.+ U1 AT S € fob Xmmgor § aftfa s geg, Merest & del R gs o

3. % 30 YaTe ANl § U8 3 Yered Afedl A firerdt 31

4. % PHIAY P ARG, 3TPBT I Hl SRTITR &S I A g3 & |

Question Number : 55 Question Id : 25498920950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I Tt 7} eTa’t &) e 8l 8
Options :

1. % ggrad

2. % XY

3. % yorfgd

4. % GERY

Question Number : 56 Question Id : 25498920951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AU & AR S A Agdqul e ATRYe & U dead! o g3 o

Options :

1. % I A BN Y & SFRIY IR 3o UTS TEH0 & 1Y Hadms a3 RId &1 qRET 31|

2. % JM A WY T UR BRI aTat 1A 8T H1 FaT 3R Hiad Bt TRIg1 Bl

3. % YA AT ST B 3D Ul B 1T & RTfGT T IR §99 & 910 ¥ Tad o e
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Question Number : 57 Question Id : 25498920952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

et IeHest § Tad e 44! g | Fafifed o 9 &9 a1 fawed 9 faar &1 qad= s g2
Options :

1. % $3 98 3R DI ATl &b Uep 1Y, 3TH A B & BRI MeTas) IR fhefHier Tret 81 S |
2. ToTHE W MeTadt & SR YT YA Id T HRd H gORT Tad 81 Y § 3R T8 56 W J F1 8|
3. % 3 WMl H 7} udel iR Y1 g

4. % eI} B3 TR Al I T g3 8 3UT I8 U T1Y 98 8|

QUANTITATIVE APTITUDE
Section Id : 2549896833
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896874
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (You are not expected to calculate the exact value)

389+ (2.6 x6.9)="?
Options :

1. w22

2. ® 17

3. %28

4. % 12

Question Number : 58 Question Id : 25498914275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fraffad o &1 g B | (3TDB! TUIS A BT TUFT DR B STaGehdl T8l )

389+ (2.6 x6.9)="?
Options :

1. 22

2. ® 17

3. %28

4. %12

Question Number : 59 Question Id : 25498914333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Akash seorsd 73 marks o subject AL Ie scored 56% marks In subject B and X marks in subject O Addasdinnm marks o
each subject were 1301 The overall percentage marks ahtained b Akash in all the three suhjects together were 54%.
Llowy many mads did he score i subject 7

Options :

1. ® Bd

7. Bilh

3 & 79

Question Number : 59 Question Id : 25498914333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
s o R A # 73 3F ared ) swe Bww B # 56% i Rmwr © & X HE 9w T e
frn A Wi S 150 0 ey E AR B F o sm viEIE A A% A I Rwm C F

Options :
| % B4
2.« B
3.% 79
4. % 13
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Question Number : 60 Question Id : 25498928816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Prasad sold his work tools for % 1,850 and earned a profit of 25 per cent. At what price did Prasad buy the work tools?
Options :

1. % 31,300

2. % 31,480

3. 31,360

4. % 31,240

Question Number : 60 Question Id : 25498928816 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG 30 T JUSUN B! % 1,850 H 9 &M SR 25 TRI=Td &1 a1 S| Al e S 1d IR T91G A BT IUIR Tl A2
Options :

1. % 31,300

2. % 31,480

3. % 31,360

4. % T 1,240

Question Number : 61 Question Id : 25498928938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (You are not required to calculate the exact value)

50.001% 0f 99.99 +49.999 =?
Options :

1% 1

% 0.1

% 0.01

% 0.02

Eall

Question Number : 61 Question Id : 25498928938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

rafiRad e &Y gat DY | (MU TUTS | B} UM B B SHTTLIDHAT 78T 7)

99.99 T 50.001% +49.999 =2
Options :

1. % 1

2. % 0.1

3. %0.01

4. % 0.02

Question Number : 62 Question Id : 25498929073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression. (You are not expected to calculate the exact value)

1559.95 - 7.99 x 24.96 - 72 = 1154
Options :

1. %" 14

2. % 24
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3. %32
4. % 18

Question Number : 62 Question Id : 25498929073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fRfRad oo &1 gd Y| (3MTTBT TUTS A BT U R B1 AT Hdl e 8)

1559.95 - 7.99 x 24.96 - 72 = 1154
Options :

1. % 14

2. %24

3. %32

4. % 18

Question Number : 63 Question Id : 25498929575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ihe angle of elevation of the top point P of the vertical tower PO of height b from a point A on the around 15 457 and
firom a poinr B, the angle of slevation iz 60F, whers B is a peint at a distance d from A measursd along ling AR which
mukes an angle 30° with AC. Then d is equal fo:

Options :

L (VE-1)h
PR CERRNE
3 K 'I.'Iﬁ h

Question Number : 63 Question Id : 25498929575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEhTE A T PO F i R P R s R AR smam e E A g B &
Fega FroT 60" ¥, = g B, maa#mmrﬂrﬁ@re@dq—wﬁg%mm#msu"
& FI0T F=0ar £ & d a;rm;ra:maﬁm‘?

Options :

1w [w'ﬁ 1J i)
) % [:'h..'ﬁ I 1J h
3. K "u"E hn
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GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2549896834
4

Online
Mandatory
6

6

6

Yes

Yes

0

1
2549896875
Yes

Question Number : 64 Question Id : 25498910212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Roentgen is related to X-rays in the same way as Becquerel is related to:

Options :

1. % Uranium

2. % Radioactivity
3. & Fission

4. % Superconductivity

Question Number : 64 Question Id : 25498910212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A< BT THXI Y Ig] JaY § S 9hd bl IR

Options :

1. & g

2.« fgayfiar
3. ® fq@sq

4. ® JfcraTcIddl

Question Number : 65 Question Id : 25498919001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A group of three related words is given.

From the options select such a word that is related to the given group of words and hence fits in the group.

Peas : Gram : Pulses
Options :

1. % Rice

2. % Barley

3. % Beans
4

. # Coconut

Question Number : 65 Question Id : 25498919001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 A reg foT U R O U g @ Ui € ok U U S B |

29/38



11/11/2022, 10:00

famedl & ¥ I Teg BT g o 39 i Lea! I do! T~ QAT 51 3R 3idd: 34 g4 ¥ e g1 9|

HR : T : qId
Options :

1. & dJ[ad

2. &S

3. S

4. ® AIRTd

Question Number : 66 Question Id : 25498919806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the given names in the order in which they would occur in a telephone directory and choose the one which appears in the second
position.

Options :

1. % Sajewat
2. % Segvan
3. % Sajevar

4. ® Sajewet

Question Number : 66 Question Id : 25498919806 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T 7T AT & 37 HH T afRyd B 5 5 T 3 T T S Rt 7 81 3R g2k RIF WR 3 a1 g, &1 I |
Options :

1. % Sajewat

2. % Segvan

3. % Sajevar

4. ® Sajewet

Question Number : 67 Question Id : 25498919901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different.
Choose out the odd one.

Options :

1. % Canoe
2. % Igloo
3. % Yacht
4. ® Dinghy

Question Number : 67 Question Id : 25498919901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

H2 fyepedl § IR Teg AU T € oFH A dF 5 vpR q ter S €, Siafd Ueb 379 i 81 39 et Tsg o) g B |
Options :

1. % gt

2. W QI

3. & NPT

4. % Bl

Question Number : 68 Question Id : 25498927844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
There is a certain relationship between the first two words. Select the correct option which has the same relationship with the third word.

Calf : Cow :: Puppy : ?
Options :

1. %= Sparrow

2. % Bitch

3. % Horse

4. & Donkey

Question Number : 68 Question Id : 25498927844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugd G T3] & S IS YaY 21 I Te fdehey o1 = &3 e R Wea A 391 €Y Jey 2

W:W::W:?
Options :

1. ® faf&ar

2.«

3. ® °igl

4, % 7T7Y7

Question Number : 69 Question Id : 25498928729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, OPERATION is written as NODQBUJPO. How is INVISIBLE written in that code?
Options :

1. ® JOWJTJCMF

2. & JOWIJTHAKD

3. ¥ HMUHTICMF

4. % HMUHTHAKD

Question Number : 69 Question Id : 25498928729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

far<ht fafR1y He U1 H, OPERATION &Y NODQBUIPO ot STTd § o $9 e {TST H INVISIBLE 1 3T forar Sam?
Options :

1. ® JOWJTICMF

2. ® JOWJTHAKD

3. % HMUHTICMF

4, ¥ HMUHTHAKD

GENERAL AWARENESS
Section Id : 2549896835
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
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Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896876
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the 'Index of Eight Core industries', which one of the following is given the highest weight?
Options :

1. #= Coal production

2. " Electricity generation

3. # Fertiliser production

4. % Steel production

Question Number : 70 Question Id : 2549895258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'3TE BR I & Gaeicr' H, e 7 e gody 31 aoi far s 2
Options :

1. % PG IAGT

2. «* faggd Iare

3. % IRP I

4. % LA BT 3G

Question Number : 71 Question Id : 2549895377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following
List—1I List—1I

A. Tron ore 1. Zawar
B. Mica 2. Bailadila
C. Silver 3. Babupali

D. Graphite 4. Koderma

Options :

I.*=A-1,B-2,C-3,D-4
2. % A-4B-3,C-2,D-1
3. A-2,B-4,C-1,D-3
4 & A-1,B-3,C-2,D-4

Question Number : 71 Question Id : 2549895377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeRad o1 firam &)
et -1 e -1

A A 3TS 1. W[daR

B. Y& 2.
C. dict 3. STeTeR
D. Uhlgc 4. DISIH]
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Options :
. A-1,B-2,C-3,D-4
2. 8 A-4B-3,C-2,D-1
3.%A-2,B-4C-1,D-3
4. *A-1,B-3,C-2,D—-4

Question Number : 72 Question Id : 2549895531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Genes located at the same locus but having different expression are
Options :

1. % multiple alleles

2. % oncogenes

3. ® polygenes

4. % codominants

Question Number : 72 Question Id : 2549895531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o o T &) =M IR fRyd 81 § Afch e siftreafa (Tagiem) ST e eldi e 3% de o gl
Options :

1. + Sgfdebedl Taitery

2. % 3fI=hloi

3. % Uldee

4. % PISIAC

Question Number : 73 Question Id : 25498929759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The name catalysis was given by:
Options :

1. ® Rutherford

2. % Langmuir

3. & Graham

4. % Berzelius

Question Number : 73 Question Id : 25498929759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IR &1 74 foram feam um
Options :

1. % IRBIS

2. % AR

3. & YlgH

4.+ Siiforg

Question Number : 74 Question Id : 25498930082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When is World Blood Donor Day, recognised by the UN observed?
Options :

1. %= December 11

2. % July 11
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3. ®% November 25
4. % June 14

Question Number : 74 Question Id : 25498930082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T 1Y GRT AT T {39 Yard-aTefl G Fdf B SiTell 82
Options :

1. % 11 fedsR &

2. % 11 TS BT

3. % 25 TdER B

4.9 14T B

Question Number : 75 Question Id : 25498932091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Deforestation means the felling and clearing of forest cover or tree plantations to accommodate agricultural industrial or urban
use. It involves the permanent end of forest cover to make that land available for residential commercial or industrial purposes.
Deforestation clearance or clearing is the removal of a forest or stand of trees from land which is then converted to a non forest
use. Deforestation can involve conversion of forest land to farms. The most concentrated deforestation occurs in rainforests.
Deforestation can also be seen as removal of forests leading to several imbalances both ecologically and environmentally.
Deforestation or clearance occurs due to several reasons. To get a clear overview we could include the need for money both in
terms of profitability as well as providing for ones family in most scenarios along with lack of forest laws and need for land or
housing among a long list of other uses. Deforestation is primarily blamed on agricultural or pastoral use because farmers usually
cut trees for increasing space for cultivation and as fodder land for grazing and surviving livestock. The whole concept of slash and
burn agriculture is used to indicate this same process where farmers employ the above chain of actions for their purposes.
Deforestation also affects the climate in many ways. Forests are the lungs of our planet. Trees take in carbon dioxide and release
oxygen and water vapour in the air and that is why tropical rainforests are extremely humid. Trees also provide shade that keeps
the soil moist. All these are compromised with the lack of trees. It leads to the imbalance in the atmospheric temperature which
causes drier climate further making conditions for the ecology worse that leads to climate change. Several animals and plant
species that form the flora and fauna across the world are vastly accustomed to their natural habitat. Therefore haphazard
clearance of forests would make it very difficult for them to survive or to shift from their native environment or adapt to new
habitats. When a forest is cut down the humidity levels come down and cause the remaining plants to dry out. The drying out
tropical rainforests increases fire damage that destroys forests rapidly and harms wild animals as well as humans. Forests and
climate are linked intrinsically. Forest loss and degradation are both a cause and an effect of our changing climate. At the same
time deforestation is self perpetuating. Trees play a major role in controlling global warming. The trees utilize greenhouse gases
restoring the balance in the atmosphere. With constant deforestation the ratio of greenhouse gases in the atmosphere has increased
adding to our global warming woes. Forests help to mitigate carbon dioxide and other toxic greenhouse gas emissions. However
once they are burned and cut or otherwise removed they become carbon sources. Trees are also crucial for our local water cycles
also as they keep on returning water vapour to the atmosphere. The soil remains moist as the rainwater percolates within the soil.
The fertile soil is held in place by intricate root structures of many layers of trees. With the clearance of tree cover the land is
directly exposed to the sun making it dry. Without trees erosion often occurs and sweeps the land into nearby rivers and streams.
Forests serve as nature water purification plants.
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